Ma Vt‘t‘@ Sclhrame -

YT

MTC €Te

¢ 2°> (QO)

SyUabhus-.

- Recureton
— Arre

- Dyvewme A—r‘m)r

- Sdak
~ Qreuve
— Lt

- Trug
- q'mt;l«s

Reconrsion::

(O 2ig9er  froblew

@) Swelr  ProDlew

Pre W3
C\g) —s AHedonCe . S ¢St =0

(ag) Tes-: € “2S- %0 1
¥ Jo~loqw Asaom: < Ro~¥S 1 2
HR Test (1) \if_’;:"-i
Axtedamce (S ag-te0: ¥

vva  (S)
Lomswox. ’,
ol |22~ :
cfe++] Tove \o— tf . mﬂﬂ%
\ LA‘QH)
Toser =

—> ASswwu 2P Teo -

@) sp— 2P (s wk)

@,8, . Pt Otue.yv}f’

ms & (<)
S
51 Y
&
;
4

O b




L pom¥ (
s m:‘) ws PD (X w)
-./PL:&;;) ’ : et
<e
8 cChoye: 'PDC'Y“:\')'
y 7

%ﬁ

o
= PP &

Mcc_bﬂ, k

-

PD(w)

P 3 =



mM:$ =Y
2\- \ QP
Rp 2
% 2
< |
Li] Sr-l%oovm
et W ( Jad PL (widw)
g—./w.- L ..[.(m-: ’) e (ase
‘ SPE(D)
meso _> by PT(v-1")
v L — ahum o- A len:
= 3
I, %
(X% ’
Nne e
e /P‘;G;/ >/ o<
LwtCe 2 1
P'% 3 2
- %
[ PE Z b7¢,
[31 S 3 _
et ciha >
e PL(y) &7
\ rccye |
PoT
MN=3 m=>2
2
j i’ P
i 4
2, 2-
>




Nn--—
—_—VY)

Nen~|

Ne—- W PP (1wt 1)
z

\ nXoCc Wy can,
P PT(m- -')-)
ok ce vaze

3




o £ 4L o 3 £ 2 '3«», 2); .
v i 2@ 5’“‘9 e <t Qe = k23

N=6 —> gt fb m2a —™ €

Mn=-8 —> ‘8"""&-‘\% mo —> 2|

N=S — &% b o R &b w9
yq =7

‘V‘{'RWf:Atm')

T w(n==o l'l\ﬂz':-\) rhum Ny
Wt faml = Bufu-)

‘v -S‘mv-),: 4&‘(\0-3_')-)
b &4 2 Awit dvwdy .
AT f v 79







